Mrs. Gregory & Mrs. Postlethwuite's group —

4a. Angela has been saving 50p coins.
She has more than 2,350p but less than

£28.00.
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How much could Angela have?

W

Ps

4b. Robert has been saving 50p coins. He
has more than £22.50 but less than

2,550p.

Y PEy

50

How much could Robert have?
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5a. How many ways can you make this
statement true? Use the digit cards below.
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5b. How many ways can you make this
statement true? Use the digit cards below.
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6a. Who has the most money? Explain
why.

| have four 50p
coins.
Wayne
| have five 20p m
coins.

John

6b. Who has the most money? Explain
why.

| have two £2
‘. ) coins.
Molly
| have three £1 ’\
coins. » €

Mandy
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